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0091 S000000Gc2°0S000000000000000GO00000000000 o[g)000
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oo[Gl={A: AD gODOOODOOOODO }.

009-2000009-1000000000000(G,u)000000000000000A =G1+--+4+G, (G; €6)
000000 AeGg0O0000u(A) =", 1(G) 000000000 u(A) 0 well-defined 000 (000 A
O000000000)O(oolG),we)DOODDOOOODOOOODOOODOO
009-3009-1,9200000000000(G,u)0000000000000000O0DO0 BCSOOOOO

oo

w(B) = nf{ > wo(Co): BCUZCr, Cieg (vieN)}

i=1
oO00oooopoooOogoooo BOOOODODOOOODDOOODO
()p*0SO0000D0O0O0O0ODOO0OO0

(2) p*00000000(G, 1) 000920000 (60[G],40) 000000000000 x*0000000000

0094 009100009300000000000e[¢g)000000O0ODO0S30000 p*0000000
googoobooon

0095 ADROOOOOOO, I (jeN)OUODODOOO (cR)OOO0.a«>0,000 NODOOO,
HE(A) ::inf{Z|Ij|°‘: AcuX, L, 0000000 \Iﬂg%(WeN)}
j=1

H*(A):

lim H§(A)

N—o00

00O000.000,|/0007000000.

() ADDDODDOOO. >4>000000, N“AHY(A) =H(A) D000
(2)a>1000, H*(0,1))=0000.

(3)a=1000, H*(0,1))=1000.

(4)0<a<1000, H*(0,1)=0c0o000.



00 9-6 (X,d)000000000ACX0000000000 diam(A) := sup{d(z,y): z,y € A}0000
a>0,0<6<10000,

T9(A) = inf{Zdiam(Aj)o‘: ACUZ,A;, A;jCcXDDO |Aj|§5(Vj€N)}
j=1
I(A) := lim ['2(A)
§—0
goooo.0o00o00r«0 xXoooooooooooooo
Hint: 000000000000 O0O0O0O0O0OOOOOOOOOOOO

0097 p*0000000. 00000 {4;},{B,;} 0 u*(4,AB;)=0(vje N)OOOODDOO. 00000
p*(U;A;) = p*(U;B;) 0000000000,

Oo0o9-8SO0000OOHO SOOOOOOOOODOODOOOOODOOOOOOOODODOOOOOOOOOOO
gooood

e DOOODOHOOODO.

e 0000 fOHOODODODOOOOOOOOOOOODOODOOOOOOOOOOOfOHODDODO.
O000zZ0HO0OUOO0OOODOOO0OODO0OO0O0O000O00O000000XOOO0O0O00O0 o[Z2]00000000

000000000 Z000000000000O00O0O0D0O0 e O0OU0O0ODDOUOOOOO E[Z10D0000

Hint: 0000000000000 0OO0O0OO00O0O0OOO (0000000 0O0OO0)0D00DO0OO0O0OOOOO0
000000000 0o00Uo0o(o0o0ooDo0ooooU 3-13,3-1400000)



